Ege (It’s a Tie)

*** According the following table, Kaia is right. 

1) The probability of wearing the same tie at more than once a week is 17/20.

2) The probability of wearing the same tie at three times in a week is 3/20.

3) The probability of wearing different ties in a week is 3/20.

	Week no.
	Monday
	Tuesday
	Wednesday
	Thursday
	Friday

	1
	C
	B
	G
	F
	H

	2
	G
	H
	E
	H
	C

	3
	G
	A
	C
	E
	G

	4
	E
	H
	H
	E
	E

	5
	E
	E
	E
	H
	H

	6
	C
	D
	G
	D
	C

	7
	F
	A
	H
	D
	F

	8
	H
	C
	A
	F
	C

	9
	E
	F
	A
	E
	C

	10
	B
	E
	B
	C
	D

	11
	C
	D
	H
	H
	E

	12
	H
	D
	E
	G
	F

	13
	A
	A
	D
	E
	B

	14
	E
	E
	E
	E
	D

	15
	E
	B
	D
	F
	F

	16
	H
	H
	B
	C
	E

	17
	C
	F
	G
	E
	D

	18
	A
	A
	H
	F
	E

	19
	B
	A
	H
	A
	C

	20
	     C
	      C
	        B
	      E
	    C














